1. < % cosA ¢} gro] T2 A=Y

@ sinA @ sinB @ cosB @ tanA ® tanB



lo
El
i
o
k]
-t
o]
=]
ot
Ny
|
@,
=)
ot
w
+
aQ
&
ot
[\]
lo
)
filo
-
_o'lg
rg
)

Ze M_OJ PNl EtHE

(sin) (cos) (tan)
52° 0.7880 0.6157 1.2799
53° 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
55° 0,8192 0.5736 1,4281

D 1.1932
@ 1.1935

@ 1.1933 @ 1.1934
® 1.1936



3. = I2™AA x o 327

D 7+8V2 @ 7+8V3 ® 8+8V2
@ 8+8V3 ® 9+8v2



4. tanA =05 <L W, sinA 4 cos A 2] F22(F, 0° <A <90°)

@4«/5

@ ; 5

5



5.

th o] 4] ghe Foha?
2 — 3sin 30° x tan 45° + 2sin 60° X cos 60°

1+ V2 ®1+«/§

0]
@

2 2
1+2v2 5 1+ V3
3 3




6.  cos60° x tan 60° + sin 60° = AAFSFH?

D V2 @ V3 ® 2 @ 242 B 23



7. ohE 2™l AHEE ABCD 9] Holv?

A--4--_p
e 0
,6/
B /300 IC
9v3
@ 6vV3+16 ® 2 1



=BC

@ cosC

=DE

@ tan A

BC

AB

@ sinA

@ sinC

= DE

® cosA



180° - /B

ojlmg

O X sin(180° — /B)

h

O

AABC °l|lA LABH
sin(180° — /B)

h

1

1

(180° — /B)

—aQdsin
2

—ah =
2

.. AABC =

® h

c



10.

e 2 2 A mope
94 ABCD 7} 5 W o] tsted

45° TE 7] &0 A St} o] off, A
AY2+E EBCF 2] {ol&?

@ 48 @ 48V2 @ 48V3 @ 48v5 < ® 486



11 go 9304

3tan B
o] 7Z}.09
2tanA SRSt

3 7
% 9
® 1




12.

the 13 ol §hA]
Hole?

=

f=i

o Zol7k 6 A Aol s 4%

7}t

%

D 9V3 @ 18v3 ® 271V3 @ 45V3  ® 5443

94



©] 255in90° — 3 cos 0°

09 g

Fo}?

o

o, a 9

® 6

@ 2

@ -6

® -10



14.

A A 2

(V3+1)x+ V3=02 F & tana, tanb 2L Z

b 9] A71E? (&, tana < tanb , a,b = |2}

O o°

@ 30° ® 45° @ 60° ® 80°

Ol



15. t©he 2o A BC = 4em, /B = 30°, /ZACH = 45° Y T, AABC 9]

Woli?
A
' A []
B ~4cem- C H

@ 5cm? @ Tcm? ® 3(V2+1)em?

@ 3(3- V2)em®>  ® 4(V3+1)em?



